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PreCalculus CH 5 Practice Test

Answer the following questions.

1. What does it mean for a function to have a period of 2777
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2. Consider a soundwave., |f the volume is fo be increased, what changes? If the note or
the pitch is to be changed, what in the equation changes?
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3. Find the period and the amplithde (if applicable) of the following functions.
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a. f(t) =4sint b. f(t) = 5 cos 3t C. f(t) =tan7m d. f(t) = csc%n(t -9)
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4. Sketch the graph of the standard cosine dnd sine functions. "o '
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a.y =cosx

9. Now, graph y = cos(x — m), without having to make a table, but simply by
transforming the graph of y = cos x from #4.
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8. Sketch the following graph: y = 4sin (rr +-725) -1 54 }pé a Q&N 'TI/ o’cw @
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7. Evaluate the following trigonometric functions. (No Calculators! Do not put answer in
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8. If sint =‘§ and t is in quadrant lll, find the values of all other trig functions at t.

(Make a reference triangle) S (39’)’ &Lkls -
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9. Write the Pythagorean Identity, and use it to express sint in terms of cos t and vice-

versa.
a. Pythagorean Identity: sint = +JT=los k cost = FJ(-Gatt.
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10. Use the various identities to write the first trigonometric expression in terms of the
second, with terminal given by the quadrant: Lon (. @

a. sint,cos t; quadrant | b. tant, sint; quadra tT\./‘:
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c. tan® t,sin t; any quadranj
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11. Find a function that models the simple harmonic motion ing the given properties.
Assume that the displacement is zero attime t = 0 =)(§/n
a. amplitude: 10 = b. amplitude: 0.2
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Now asume that the displacement is at its maximum attime t = 0. b’
c. amplitude: 135 d. amplitude: 0.35
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12. In a predator/prey model, the predator population is modeled by the function:
p(t) =900 cos 2t + 8000
What is the maximum population? (Think! When does cos function reach the maximum?)
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13. Each time your heart beats, your blood pressure increases, then decreases as the
heart rests between beats. A certain person’s blood pressure is modeled by the function:
p(t) = 115 + 25sin(160mt) = 2.5 s/n ([62T0 ¢) 4
Find the amplitude, period, and frequency of p.

14. The variation of the water level relative-to-mean sea level in Commencement Bay at
Tacoma, Washington, for a particularm@rts at mean sea level, rises to
6ft, drops 6ft below, and then returns to mean sea level. Assuming that this motion is
simple harmonic:

d an equation that describes the height of the tide in Commencement Bay.
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b. What is the water level at 6pm? (Think how many hours have elapsed?)
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